

Research Article

On the Dynamics of a Higher-Order Rational Difference Equation

A. M. Ahmed

*Department of Natural Sciences, Arriyadh Community College, King Saud University, Malaz,
P.O. Box 28095, Riyadh 11437, Saudi Arabia*

Correspondence should be addressed to A. M. Ahmed, ahmedelkb@yahoo.com

Received 23 May 2011; Revised 2 August 2011; Accepted 6 August 2011

Academic Editor: Cengiz Çinar

Copyright © 2011 A. M. Ahmed. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

The aim of this paper is to investigate the global asymptotic stability and the periodic character for the rational difference equation $x_{n+1} = \alpha x_{n-1} / (\beta + \gamma \prod_{i=1}^k x_{n-2i}^{p_i})$, $n = 0, 1, 2, \dots$, where the parameters $\alpha, \beta, \gamma, p_1, p_{l+1}, \dots, p_k$ are nonnegative real numbers, and l, k are nonnegative integers such that $l \leq k$.

1. Introduction

Difference equations have always played an important role in the construction and analysis of mathematical models of biology, ecology, physics, economic process, and so forth.

The study of nonlinear rational difference equations of higher order is of paramount importance, since we still know so little about such equations.

Amleh et al. [1] investigated the third-order rational difference equation

$$x_{n+1} = \frac{a + bx_{n-1}}{A + Bx_{n-2}}, \quad n = 0, 1, 2, \dots, \quad (1.1)$$

where a, b, A, B are nonnegative real numbers and the initial conditions are nonnegative real numbers.

Ahmed [2] studied the global asymptotic behavior and the periodic character of solutions of the third-order rational difference equation

$$x_{n+1} = \frac{bx_{n-1}}{A + Bx_n^p x_{n-2}^q}, \quad n = 0, 1, 2, \dots, \quad (1.2)$$

where the parameters b, A, B, p, q are nonnegative real numbers, and the initial conditions x_{-2}, x_{-1}, x_0 are arbitrary nonnegative real numbers.

For other related results, see [3] and also [4–15].

In this paper, the global asymptotic behavior and the periodic character of solutions of the rational difference equation

$$x_{n+1} = \frac{\alpha x_{n-1}}{\beta + \gamma \prod_{i=l}^k x_{n-2i}^{p_i}}, \quad n = 0, 1, 2, \dots, \quad (1.3)$$

where the parameters $\alpha, \beta, \gamma, p_l, p_{l+1}, \dots, p_k$ are nonnegative real numbers, l, k are nonnegative integers such that $l \leq k$, and the initial conditions $x_{-2k}, x_{-2k+1}, \dots, x_0$ are arbitrary nonnegative real numbers such that

$$\beta + \gamma \prod_{i=l}^k x_{n-2i}^{p_i} > 0, \quad \forall n \geq 0, \quad (1.4)$$

will be investigated.

Let I be an interval of real numbers, and let $f : I^{2k+1} \rightarrow I$ be a continuously differentiable function. Consider the difference equation

$$x_{n+1} = f(x_n, x_{n-1}, \dots, x_{n-2k}), \quad n = 0, 1, 2, \dots, \quad (1.5)$$

with $x_{-2k}, x_{-2k+1}, \dots, x_0 \in I$. Let \bar{x} be the equilibrium point of (1.5). The linearized equation of (1.5) about \bar{x} is

$$y_{n+1} = c_1 y_n + c_2 y_{n-1} + \dots + c_{2k+1} y_{n-2k}, \quad n = 0, 1, 2, \dots, \quad (1.6)$$

where

$$c_1 = \frac{\partial f}{\partial x_n}(\bar{x}, \bar{x}, \dots, \bar{x}), \quad c_2 = \frac{\partial f}{\partial x_{n-1}}(\bar{x}, \bar{x}, \dots, \bar{x}), \dots, \quad c_{2k+1} = \frac{\partial f}{\partial x_{n-2k}}(\bar{x}, \bar{x}, \dots, \bar{x}). \quad (1.7)$$

The characteristic equation of (1.5) is

$$\lambda^{2k+1} - c_1 \lambda^{2k} - c_2 \lambda^{2k-1} - \dots - c_{2k+1} = 0. \quad (1.8)$$

Definition 1.1. Let \bar{x} be an equilibrium point of (1.5).

- (i) The equilibrium point \bar{x} of (1.5) is called *locally stable* if, for every $\epsilon > 0$, there exists $\delta > 0$ such that, for all $x_{-2k}, x_{-2k+1}, \dots, x_0 \in I$ with $|x_{-2k} - \bar{x}| + |x_{-2k+1} - \bar{x}| + \dots + |x_0 - \bar{x}| < \delta$, we have $|x_n - \bar{x}| < \epsilon$ for all $n \geq -2k$.
- (ii) The equilibrium point \bar{x} of (1.5) is called *locally asymptotically stable* if it is locally stable, and if there exists $\gamma > 0$ such that for all $x_{-2k}, x_{-2k+1}, \dots, x_0 \in I$ with $|x_{-2k} - \bar{x}| + |x_{-2k+1} - \bar{x}| + \dots + |x_0 - \bar{x}| < \gamma$, we have $\lim_{n \rightarrow \infty} x_n = \bar{x}$.

- (iii) The equilibrium point \bar{x} of (1.5) is called *global attractor* if, for every $x_{-2k}, x_{-2k+1}, \dots, x_0 \in I$, we have $\lim_{n \rightarrow \infty} x_n = \bar{x}$.
- (iv) The equilibrium point \bar{x} of (1.5) is called *globally asymptotically stable* if it is locally stable and global attractor.
- (v) The equilibrium point \bar{x} of (1.5) is called *unstable* if it is not stable.
- (vi) The equilibrium point \bar{x} of (1.5) is called *source or repeller* if there exists $r > 0$ such that, for all $x_{-2k}, x_{-2k+1}, \dots, x_0 \in I$ with $0 < |x_{-2k} - \bar{x}| + |x_{-2k+1} - \bar{x}| + \dots + |x_0 - \bar{x}| < r$, there exists $N \geq 1$ such that $|x_N - \bar{x}| \geq r$. Clearly, a repeller is an unstable equilibrium.

Theorem A (linearized stability theorem). *The following statements are true.*

- (1) *If all roots of (1.8) have modulus less than one, then the equilibrium point \bar{x} of (1.5) is locally asymptotically stable.*
- (2) *If at least one of the roots of (1.8) has modulus greater than one, then the equilibrium point \bar{x} of (1.5) is unstable.*

The equilibrium point \bar{x} of (1.5) is called a "saddle point" if (1.8) has roots both inside and outside the unit disk.

2. The Special Cases $\alpha\beta\gamma\sum_{i=1}^k p_i = 0$

In this section, we examine the character of solutions of (1.3) when one or more of the parameters in (1.3) are zero.

There are four such equations; namely,

$$x_{n+1} = 0, \quad n = 0, 1, 2, \dots, \quad (2.1)$$

$$x_{n+1} = \frac{\alpha}{\beta} x_{n-1}, \quad n = 0, 1, 2, \dots, \quad (2.2)$$

$$x_{n+1} = \frac{\alpha}{\beta + \gamma} x_{n-1}, \quad n = 0, 1, 2, \dots, \quad (2.3)$$

$$x_{n+1} = \frac{\alpha x_{n-1}}{\gamma \prod_{i=1}^k x_{n-2i}^{p_i}}, \quad n = 0, 1, 2, \dots \quad (2.4)$$

Equation (2.1) is trivial, (2.2) and (2.3) are linear, and (2.4) is a non-linear difference equation; the change of variables $x_n = e^{y_n}$ reduces it to a linear difference equation.

3. A General Oscillation Result

The change of variables $x_n = (\beta/\gamma)^{1/\sum_{i=1}^k p_i} y_n$ reduces (1.3) to the difference equation

$$y_{n+1} = \frac{r y_{n-1}}{1 + \prod_{i=1}^k y_{n-2i}^{p_i}}, \quad n = 0, 1, 2, \dots, \quad (3.1)$$

where $r = \alpha/\beta > 0$.

Note that $\bar{y}_1 = 0$ is always an equilibrium point. When $r > 1$, (3.1) also possesses the unique positive equilibrium $\bar{y}_2 = (r-1)^{1/\sum_{i=1}^k p_i}$.

Theorem B (see [8]). *Assume that $F \in C([0, \infty)^{2k+1} \rightarrow [0, \infty))$ is nonincreasing in the odd arguments, and nondecreasing in the even arguments. Let \bar{x} be an equilibrium point of the difference equation*

$$x_{n+1} = F(x_n, x_{n-1}, \dots, x_{n-2k}), \quad n = 0, 1, 2, \dots, \quad (3.2)$$

and let $\{x_n\}_{n=-2k}^{\infty}$ be a solution of (3.2) such that either

$$x_{-2k}, x_{-2k+2}, \dots, x_0 \geq \bar{x}, \quad x_{-2k+1}, x_{-2k+3}, \dots, x_{-1} < \bar{x}, \quad (3.3)$$

or

$$x_{-2k}, x_{-2k+2}, \dots, x_0 < \bar{x}, \quad x_{-2k+1}, x_{-2k+3}, \dots, x_{-1} \geq \bar{x}. \quad (3.4)$$

Then $\{x_n\}_{n=-2k}^{\infty}$ oscillates about \bar{x} with semicycles of length one.

Corollary 3.1. *Assume that $r > 1$; let $\{y_n\}_{n=-2k}^{\infty}$ be a solution of (3.1) such that either*

$$\begin{aligned} y_{-2k}, y_{-2k+2}, \dots, y_0 &\geq \bar{y}_2 = (r-1)^{1/\sum_{i=1}^k p_i}, \\ y_{-2k+1}, y_{-2k+3}, \dots, y_{-1} &< \bar{y}_2 = (r-1)^{1/\sum_{i=1}^k p_i}, \end{aligned} \quad (3.5)$$

or

$$\begin{aligned} y_{-2k}, y_{-2k+2}, \dots, y_0 &< \bar{y}_2 = (r-1)^{1/\sum_{i=1}^k p_i} \\ y_{-2k+1}, y_{-2k+3}, \dots, y_{-1} &\geq \bar{y}_2 = (r-1)^{1/\sum_{i=1}^k p_i}. \end{aligned} \quad (3.6)$$

Then $\{y_n\}_{n=-2k}^{\infty}$ oscillates about the positive equilibrium point $\bar{y}_2 = (r-1)^{1/\sum_{i=1}^k p_i}$ with semicycles of length one.

Proof. The proof follows immediately from Theorem B. □

4. The Dynamics of (3.1)

In this section, we investigate the dynamics of (3.1) with nonnegative initial conditions.

Theorem 4.1. For (3.1), we have the following results.

- (i) Assume that $r < 1$, then the zero equilibrium point is locally asymptotically stable.
- (ii) Assume that $r > 1$, then the zero equilibrium point is saddle point.
- (iii) The positive equilibrium point \bar{y}_2 is unstable.

Proof. The linearized equation associated with (3.1) about $\bar{y}_1 = 0$ has the form

$$z_{n+1} - rz_{n-1} = 0, \quad n = 0, 1, 2, \dots, \quad (4.1)$$

so, the characteristic equation of (3.1) about $\bar{y}_1 = 0$ is

$$\lambda^{2k+1} - r\lambda^{2k-1} = 0, \quad (4.2)$$

then the proof of (i) and (ii) follows immediately from Theorem A.

The linearized equation of (3.1) about $\bar{y}_2 = (r-1)^{1/\sum_{i=1}^k p_i}$ is

$$z_{n+1} - z_{n-1} + \sum_{i=1}^k p_i \left(1 - \frac{1}{r}\right) z_{n-2i} = 0, \quad n = 0, 1, 2, \dots, \quad (4.3)$$

so, the characteristic equation of (3.1) about $\bar{y}_2 = (r-1)^{1/\sum_{i=1}^k p_i}$ is

$$\lambda^{2k+1} - \lambda^{2k-1} + \sum_{i=1}^k p_i \left(1 - \frac{1}{r}\right) \lambda^{2k-2i} = 0. \quad (4.4)$$

Set

$$f(\lambda) = \lambda^{2k+1} - \lambda^{2k-1} + \sum_{i=1}^k p_i \left(1 - \frac{1}{r}\right) \lambda^{2k-2i}, \quad (4.5)$$

then $f(-1) = ((\sum_{i=1}^k p_i)(r-1))/r > 0$, and $\lim_{\lambda \rightarrow -\infty} f(\lambda) = -\infty$ so $f(\lambda)$ has at least a root in $(-\infty, -1)$. Then the proof of (iii) follows. \square

Theorem 4.2. Assume $r < 1$. Then the zero equilibrium point of (3.1) is globally asymptotically stable.

Proof. We know by Theorem 4.1 that the equilibrium point $\bar{y}_1 = 0$ is locally asymptotically stable of (3.1), and so it suffices to show that $\bar{y}_1 = 0$ is a global attractor of (3.1) as follows:

$$0 \leq y_{n+1} = \frac{ry_{n-1}}{1 + \prod_{i=1}^k y_{n-2i}^{p_i}} \leq ry_{n-1}, \quad (4.6)$$

since $r < 1$, then

$$\lim_{n \rightarrow \infty} y_n = 0. \quad (4.7)$$

□

The next theorem shows that (3.1) has a prime-period two solutions when $r = 1$.

Theorem 4.3. For (3.1), we have the following results.

(a) Equation (3.1) possesses the prime-period two solutions

$$\dots, \phi, 0, \phi, 0, \phi, \dots \quad (4.8)$$

with $\phi > 0$, when $r = 1$.

(b) Assume that $r = 1$, then every solution of (3.1) converges to a period (not necessarily prime) two solutions (4.8) with $\phi \geq 0$.

Proof. (a) Let

$$\dots, \phi, \psi, \phi, \psi, \dots \quad (4.9)$$

be period two solutions of (3.1). Then

$$\phi = \frac{r\phi}{1 + \psi^{\sum_{i=1}^k p_i}}, \quad \psi = \frac{r\psi}{1 + \phi^{\sum_{i=1}^k p_i}}. \quad (4.10)$$

If $\phi \neq 0$ and $\psi \neq 0$, then $\phi = \psi = (r-1)^{1/\sum_{i=1}^k p_i}$, which is impossible. Hence, $\psi = 0$ which implies that $(r-1)\phi = 0$, so $r = 1$.

(b) Assume that $r = 1$, and let $\{y_n\}_{n=-2k}^{\infty}$ be a solution of (3.1), then

$$y_{n+1} - y_{n-1} = \frac{-y_{n-1} \prod_{i=1}^k y_{n-2i}^{p_i}}{1 + \prod_{i=1}^k y_{n-2i}^{p_i}} \leq 0. \quad (4.11)$$

So the even terms of this solution decrease to a limit (say $\Phi \geq 0$), and the odd terms decrease to a limit (say $\Psi \geq 0$). Thus,

$$\Phi = \frac{\Phi}{1 + \Psi^{\sum_{i=1}^k p_i}}, \quad \Psi = \frac{\Psi}{1 + \Phi^{\sum_{i=1}^k p_i}}, \quad (4.12)$$

which implies that

$$\Phi \Psi^{\sum_{i=1}^k p_i} = 0, \quad \Psi \Phi^{\sum_{i=1}^k p_i} = 0. \quad (4.13)$$

This completes the proof. □

The next theorem shows that when $r > 1$, (3.1) possesses unbounded solutions.

Theorem 4.4. Assume $r > 1$. Then (3.1) possesses unbounded solutions. In particular, every solution of (3.1) which oscillates about the equilibrium $\bar{y}_2 = (r - 1)^{1/\sum_{i=1}^k p_i}$ with semicycles of length one is unbounded.

Proof. we will prove that every solution $\{y_n\}_{n=-2k}^\infty$ of (3.1) which oscillates with semicycles of length one is unbounded (see corollary 3.1).

Assume that $\{y_n\}_{n=-2k}^\infty$ is a solution of (3.1) such that

$$y_{2n+1} < \bar{y}_2 = (r - 1)^{1/\sum_{i=1}^k p_i}, \quad y_{2n} > \bar{y}_2 = (r - 1)^{1/\sum_{i=1}^k p_i}, \quad n \geq -k. \quad (4.14)$$

Then

$$\begin{aligned} y_{2n+2} &= \frac{r y_{2n}}{1 + \prod_{i=1}^k y_{2n+1-2i}^{p_i}} > \frac{r y_{2n}}{1 + \bar{y}_2^{\sum_{i=1}^k p_i}} = y_{2n}, \\ y_{2n+3} &= \frac{r y_{2n+1}}{1 + \prod_{i=1}^k y_{2n+2-2i}^{p_i}} < \frac{r y_{2n+1}}{1 + \bar{y}_2^{\sum_{i=1}^k p_i}} = y_{2n+1}. \end{aligned} \quad (4.15)$$

From which it follows that

$$\lim_{n \rightarrow \infty} y_{2n} = \infty, \quad \lim_{n \rightarrow \infty} y_{2n+1} = 0, \quad (4.16)$$

which completes the proof. \square

Acknowledgments

This paper was supported by King Saud University, Deanship of Scientific Research. The author would like to thank Deanship of Scientific Research, King Saud University, Riyadh, Saudi Arabia, for funding and supporting this research.

References

- [1] A. M. Amleh, V. Kirk, and G. Ladas, "On the dynamics of $x_{n+1} = (a + bx_{n-1}) / (A + Bx_{n-2})$," *Mathematical Sciences Research Hot-Line*, vol. 5, no. 7, pp. 1–15, 2001.
- [2] A. M. Ahmed, "On the dynamics of the recursive sequence $x_{n+1} = (bx_{n-1}) / (A + Bx_n^p x_{n-2}^q)$," *Journal of Pure and Applied Mathematics. Advances and Applications*, vol. 1, no. 2, pp. 215–223, 2009.
- [3] C. H. Gibbons, M. R. S. Kulenović, G. Ladas, and H. D. Voulou, "On the trichotomy character of $x_{n+1} = (\alpha + \beta x_n + \gamma x_{n-1}) / (A + x_n)$," *Journal of Difference Equations and Applications*, vol. 8, no. 1, pp. 75–92, 2002.
- [4] A. M. Amleh, E. A. Grove, G. Ladas, and D. A. Georgiou, "On the recursive sequence $x_{n+1} = \alpha + x_{n-1} / x_n$," *Journal of Mathematical Analysis and Applications*, vol. 233, no. 2, pp. 790–798, 1999.
- [5] H. M. El-Owaidy, A. M. Ahmed, and A. M. Youssef, "The dynamics of the recursive sequence $x_{n+1} = (\alpha x_{n-1}) / (\beta + \gamma x_{n-2}^p)$," *Applied Mathematics Letters*, vol. 18, no. 9, pp. 1013–1018, 2005.
- [6] H. M. El-Owaidy, A. M. Youssef, and A. M. Ahmed, "On the dynamics of $x_{n+1} = (bx_{n-1}^2) / (A + Bx_{n-2})$," *Rostocker Mathematisches Kolloquium*, no. 59, pp. 11–18, 2005.

- [7] A. M. Ahmed, H. M. El-Owaidy, A. E. Hamza, and A. M. Youssef, "On the recursive sequence $x_{n+1} = (\alpha + bx_{n-1}) / (A + Bx_n^k)$," *Journal of Applied Mathematics & Informatics*, vol. 27, no. 1-2, pp. 275–289, 2009.
- [8] Alaa. E. Hamza and R. Khalaf-Allah, "Global behavior of a higher order difference equation," *Journal of Mathematics and Statistics*, vol. 3, no. 1, pp. 17–20, 2007.
- [9] É. M. Elabbasy and E. M. Elsayed, "Global attractivity and periodic nature of a difference equation," *World Applied Sciences Journal*, vol. 12, no. 1, pp. 39–47, 2011.
- [10] E. M. Elsayed, "Solution and attractivity for a rational recursive sequence," *Discrete Dynamics in Nature and Society*, vol. 2011, Article ID 982309, 17 pages, 2011.
- [11] A. Gelisken, C. Cinar, and I. Yalçinkaya, "On the periodicity of a difference equation with maximum," *Discrete Dynamics in Nature and Society*, vol. 2008, Article ID 820629, p. 11, 2008.
- [12] İ. Yalçinkaya, "On the difference equation $x_{n+1} = \alpha + ((x_{n-m}) / (x_n^k))$," *Discrete Dynamics in Nature and Society*, vol. 2008, Article ID 805460, 8 pages, 2008.
- [13] M. E. Erdogan, C. Cinar, and I. Yalçinkaya, "On the dynamics of the recursive sequence $x_{n+1} = \alpha x_{n-1} / (\beta + \gamma \sum_{k=1}^t x_{n-2k} \prod_{k=1}^t x_{n-2k})$," *Mathematical and Computer Modelling*, vol. 54, pp. 1481–1485, 2011.
- [14] N. Battaloglu, C. Cinar, and I. Yalçinkaya, "The dynamics of the difference equation $x_{n+1} = (\alpha x_{n-m}) / (\beta + \gamma x_{n-(k+1)}^p)$," *Ars Combinatoria*, vol. 97, pp. 281–288, 2010.
- [15] A. E. Hamza and R. Khalaf-Allah, "On the recursive sequence $x_{n+1} = (A \prod_{i=1}^k x_{n-2i-1}) / (B + C \prod_{i=1}^{k-1} x_{n-2i})$," *Computers & Mathematics with Applications*, vol. 56, no. 7, pp. 1726–1731, 2008.



Hindawi

Submit your manuscripts at
<http://www.hindawi.com>

